
EXISTING STEEL COLUMN - WIDE FLANGE

EXISTING STEEL COLUMN - TUBE (HSS)

PLAN LEGEND

STEEL BEAM OR GIRDER

STEEL JOIST OR PURLIN

EXISTING OPENING

EXISTING HORIZONTAL BRIDGING

EXISTING TO BE REMOVED

EXISTING STEEL BEAM OR GIRDER

EXISTING STEEL JOIST OR PURLIN

EXISTING CROSS BRIDGING

STEEL ANGLE BRACE / KICKER, 
SEE              ./SF501A1

ABBREVIATIONS

@ AT

AB ANCHOR BOLT (S)

ABV ABOVE

ALT ALTERNATE

APPROX APPROXIMATE

ARCH ARCHITECT(URAL)

BLDG BUILDING

BLW BELOW

BM BEAM

BOT BOTTOM

BRG BEARING

BTWN BETWEEN

CJ CONSTRUCTION JOINT OR CONTROL
JOINT

CJP COMPLETE JOINT PENETRATION

CMU CONCRETE MASONRY UNIT

COL COLUMN

CONC CONCRETE

CONST CONSTRUCTION

CONT CONTINUOUS

CONTR CONTRACTOR

CTR CENTER

D.B. DECK BEARING

db DIAMETER OF REINFORCING BAR

DBA DEFORMED BAR ANCHORS

DBL DOUBLE

DET DETAIL

DIA (OR Ø) DIAMETER

DIAG DIAGONAL

DIM DIMENSION

DK DECK

DN DOWN

DWG DRAWING

DWL DOWEL

E.F. EACH FACE

E.J. EXPANSION JOINT (SEISMIC
SEPARATION JOINT)

E.W. EACH WAY

EA EACH

EL ELEVATION

ELEC ELECTRICAL

ELEV ELEVATOR

ENG ENGINEER

EQ EQUAL

EQUIP EQUIPMENT

EXIST (E) EXISTING

EXP EXPANSION / EXPOSED

EXT EXTERIOR

F.D. FLOOR DRAIN

F.F. FINISH FLOOR

F.V. FIELD VERIFY

FDTN FOUNDATION

FIN FINISH

FL FLOOR

FT FOOT

FTG FOOTING

GA GAUGE

GALV GALVANIZED

GLB GLU-LAMINATED BEAM

GR GRADE

GSN GENERAL STRUCTURAL NOTES

HB HORIZONTAL BRIDGING

HORIZ HORIZONTAL

HSA HEADED STUD ANCHORS

HSS HOLLOW STRUCTURAL STEEL

HT HEIGHT

I.F. INSIDE FACE

IBC INTERNATIONAL BUILDING CODE

ICC INTERNATIONAL CODE COUNCIL

IN INCH

INSUL INSULATION

INT INTERIOR

JST JOIST

JT JOINT

K KIPS - 1,000 POUNDS

KLF KIPS PER LINEAL FOOT

KSF KIPS PER SQUARE FOOT

KSI KIPS PER SQUARE INCH

LBS POUNDS

Ld, Lt, Lsb,
Lsbt, Ldc, Lsc

SEE CONCRETE REINFORCING BAR
DEVELOPMENT AND LAP LENGTH
SCHEDULE

LF LINEAL FOOT

LFRS LATERAL FORCE RESISTING SYSTEM
(SFRS & WFRS)

LLH LONG LEG HORIZONTAL

LLV LONG LEG VERTICAL

LSH LONG SIDE HORIZONTAL

LSV LONG SIDE VERTICAL

MAS MASONRY

MAX MAXIMUM

MCJ MASONRY CONTROL JOINT

MECH MECHANICAL

MFGR MANUFACTURER

MIN MINIMUM

MISC MISCELLANEOUS

NIC NOT IN CONTRACT

NORM NORMAL

NTS NOT TO SCALE

O.C. ON CENTER

O.F. OUTSIDE FACE

OPNG OPENING

OPP OPPOSITE

OWSJ OPEN WEB STEEL JOIST

P.T. POST-TENSIONED

PAF POWDER ACTUATED FASTENER

PCF POUNDS/CUBIC FOOT

PJP PARTIAL JOINT PENETRATION

PL PLATE

PLF POUNDS/LINEAL FOOT

PNL PANEL

PSF POUNDS/SQ FOOT

PSI POUNDS/SQ INCH

R.D. ROOF DRAIN

PLAN MARKS

BF-# BRACED FRAME

CB-# CONCRETE BEAM

CC-# CONCRETE COLUMN

CCSS-# CANTILEVERED CONCRETE SUSPENDED
SLAB

CDP-# CONCRETE DRILLED PIER

CFW-# CONCRETE FOUNDATION WALL

CGB-# CONCRETE GRADE BEAM

CJ-# CONCRETE JOIST

CJC-# CONCRETE JAMB COLUMN

CL-# CONCRETE LINTEL

CP-# CONCRETE PIER

CRW-# CONCRETE RETAINING WALL

CSG-# CONCRETE SLAB ON GRADE

CSH-# CONCRETE SHEAR HEAD

CSS-# CONCRETE SUSPENDED SLAB

CSW-# CONCRETE SHEAR WALL

CW-# CONCRETE WALL

FC# CONTINUOUS FOOTING

FM# MAT FOOTING

FR# RECTANGULAR FOOTING

FS# SQUARE FOOTING

FTS# THICKENED SLAB FOOTING

HD-# HOLD DOWN ANCHOR

MC-# MASONRY COLUMN

MF-# MOMENT FRAME

ML-# MASONRY LINTEL

MP-# MASONRY PIER

MW-# MASONRY WALL

PTB-# POST-TENSIONED CONCRETE BEAM

SBP-# STEEL BASE PLATE

SC-# STEEL COLUMN

SCP-# STEEL CAP PLATE

SD-# STEEL DECK

SDA-# STEEL DECK ATTACHMENT

SG-# STEEL GIRDER

SJ-# STEEL JOIST

SND-# SNOW DRIFT

WB-# WOOD BEAM

WBW-# WOOD BEARING WALL

WC-# WOOD COLUMN

WD-# WOOD DIAPHRAGM

WJ-# WOOD JOIST

WSW-# WOOD SHEAR WALL

STRUCTURAL DRAWING LIST

SHT NO. SHT NAME
SE001 GENERAL STUCTURAL NOTES

SF101 PARTIAL MEDICAL EQUIPMENT SUPPORT
FRAMING PLANS

SF501 MEDICAL EQUIPMENT SUPPORT DETAILS

SF502 MEDICAL EQUIPMENT SUPPORT DETAILS

ABBREVIATIONS

REINF REINFORCING

REQD REQUIRED

SDS SELF-DRILLING SCREW

SFRS SEISMIC FORCE RESISTING SYSTEM

SHT SHEET

SI SPECIAL INSPECTION (SP. INSP.)

SIM SIMILAR

SOG SLAB ON GRADE

SQ SQUARE

STAG STAGGERED

STD STANDARD

STIFF STIFFENER

STL STEEL

STRUCT STRUCTURAL

T & B TOP AND BOTTOM

T.O. TOP OF

TEMP TEMPERATURE

THDS THREADS

TOC TOP OF CONCRETE

TOCP TOP OF CONCRETE PIER

TOF TOP OF FOOTING

TOS TOP OF SLAB

TOST TOP OF STEEL

TOW TOP OF WALL

TYP TYPICAL

UNO UNLESS NOTED OTHERWISE

VERT VERTICAL

W.P. WORK POINT

W/ WITH

WF WIDE FLANGE

WFRS WIND FORCE RESISTING SYSTEM

WT WEIGHT

WWF WELDED WIRE FABRIC

YD YARD

JUSTIN D.
NADAULD

No.
4859789-2203

P
R

O
F

E
S

S
IO

NA
L

STRUCTURAL
E

N
G

IN
E

E
R

STATE OF UTAH

HKS ARCHITECTS, INC.

SALT LAKE CITY, UT 84101

ARCHITECT

222 SOUTH MAIN, SUITE 230

REVISION

HKS PROJECT NUMBER

DATE

SHEET TITLE

SHEET NO.

P
L

O
T

 D
A

T
E

:

ISSUE

© 2008  HKS, INC.

T
E

M
P

L
A

T
E

 V
E

R
S

IO
N

: 

KEY PLAN

REAVELEY ENGINEERS & ASSOCIATES

SALT LAKE CITY, UTAH  84102

STRUCTURAL ENGINEER

675 EAST 500 SOUTH, SUITE 400

L
A

Y
T

O
N

 H
O

S
P

IT
A

L

M
IS

C
 P

R
O

J
E

C
T

S

VAN BOERUM & FRANK ASSOCIATES, INC

MURRAY, UTAH  84107

MECHANICAL ENGINEER

181 EAST 5600 SOUTH, SUITE 130

SPECTRUM ENGINEERS, INC

SALT LAKE CITY, UTAH  84111

ELECTRICAL ENGINEER

324 SOUTH STATE STREET, SUITE 400

08/15/2024

8
/1

6
/2

0
2

4
 4

:1
7
:0

1
 P

M

SE001

GENERAL

STUCTURAL

NOTES

08/15/2024

26404.000

CONSTRUCTION

DOCUMENTS

2
.6

.8
.2

0
1
4
1

0
1

2

NO. DESCRIPTION DATE



4

B C D

7

6

5

(E)W16x26 (12) C=7/8"

(E)W16x26 (12) C=7/8"

(E)W16x26 (12) C=7/8"

(E)W16x26 (12) C=7/8"

(E)W16x26 (12) C=7/8"

(E)W16x26 (12) C=7/8" (E)W16x26 (12) C=7/8"

(E)W16x26 (12) C=7/8"

(E)W16x26 (12) C=7/8"

(E)W16x26 (12) C=7/8"

(E)W16x26 (12) C=7/8"

(E)W16x26 (12) C=7/8"

(E)W16x26 (12) C=7/8"(E)W16x26 (12) C=7/8"(E
)W

2
4x

5
5 

(3
0)

(E)W16x26 (12) C=7/8" (E)W16x26 (12) C=7/8"

(E
)W

3
0x

99
 (

1
2,

4
,1

2)
(E

)W
3

0x
99

 (
1

2,
4

,1
2)

(E
)W

2
4x

7
6 

(2
4)

(E
)W

2
4x

7
6 

(2
4)

(E)W16x26 (12) C=7/8" (E)W16x26 (12) C=7/8"

(E
)W

3
0x

99
 (

1
2,

4
,1

2)

(E
)W

2
4x

55
 (

1
2,

4
,1

2)

(E)W16x26 (12) C=7/8" (E)W16x26 (12) C=7/8"

(E
)W

2
4x

55
 (

1
2,

4
,1

2)

4

5

6

7

B C D

30
' -

 0
"

30
' -

 0
"

30
' -

 0
"

30' - 0" 30' - 0"

E F

8

7
(E)W18x35

(E)W18x35

(E
)W

2
4x

5
5

(E)W18x35

(E)W18x40

(E
)W

2
4x

6
2

(E)W27x94

(E
)W

2
4x

5
5

(E
)W

2
4x

5
5

W
14

x2
2

W
14

x2
2

W
14

x2
2

W
14

x2
2

W
14

x2
2

W
14

x2
2

7

8

E F

30
' -

 0
"

30' - 0"

W14x22

W14x22

W
8x

10

MEDICAL EQUIPMENT LEGEND

EQUIPMENT SUPPORT FOR STERIS
EQUIPMENT SEE             . SEE ARCH 
FOR DIMENSIONAL LAYOUT.

SINGLE EXAM ROOM LIGHT, 
SEE . SEE ARCH 
FOR DIMENSIONAL LAYOUT.

/SF502B4

/SF501B5

EXISTING BUILDING NOTES

1. THE CONTRACTOR SHALL FIELD VERIFY ALL 
EXISTING CONDITIONS PRIOR TO DETAILING, 
FABRICATING, ERECTING OR INSTALLING ANY 
STRUCTURAL ELEMENT. ALL DISCREPANCIES SHALL 
BE BROUGHT TO THE ATTENTION OF THE DESIGN 
TEAM IN A TIMELY MANNER SUCH THAT WORK WILL 
NOT BE DELAYED.

2.  THE CONTRACTOR SHALL PROVIDE ADEQUATE 
SHORING OF EXISTING STRUCTURE DURING 
CONSTRUCTION.

SCALE:SF101 1/8" = 1'-0"

A1 LEVEL 2 PARTIAL MEDICAL EQUIPMENT BOOM FRAMING PLAN

SCALE:SF101 1/8" = 1'-0"

A4 LEVEL 3 PARTIAL MEDICAL EQUIPMENT BOOM FRAMING PLAN
JUSTIN D.
NADAULD

No.
4859789-2203

P
R

O
F

E
S

S
IO

NA
L

STRUCTURAL
E

N
G

IN
E

E
R

STATE OF UTAH

HKS ARCHITECTS, INC.

SALT LAKE CITY, UT 84101

ARCHITECT

222 SOUTH MAIN, SUITE 230

REVISION

HKS PROJECT NUMBER

DATE

SHEET TITLE

SHEET NO.

P
L

O
T

 D
A

T
E

:

ISSUE

© 2008  HKS, INC.

T
E

M
P

L
A

T
E

 V
E

R
S

IO
N

: 

KEY PLAN

REAVELEY ENGINEERS & ASSOCIATES

SALT LAKE CITY, UTAH  84102

STRUCTURAL ENGINEER

675 EAST 500 SOUTH, SUITE 400

L
A

Y
T

O
N

 H
O

S
P

IT
A

L

M
IS

C
 P

R
O

J
E

C
T

S

VAN BOERUM & FRANK ASSOCIATES, INC

MURRAY, UTAH  84107

MECHANICAL ENGINEER

181 EAST 5600 SOUTH, SUITE 130

SPECTRUM ENGINEERS, INC

SALT LAKE CITY, UTAH  84111

ELECTRICAL ENGINEER

324 SOUTH STATE STREET, SUITE 400

08/15/2024

8
/1

6
/2

0
2

4
 4

:1
7
:0

2
 P

M

SF101

PARTIAL MEDICAL

EQUIPMENT

SUPPORT

FRAMING PLANS

08/15/2024

26404.000

CONSTRUCTION

DOCUMENTS

2
.6

.8
.2

0
1
4
1

0
1

2

NO. DESCRIPTION DATE



6"x3/8"x5" GUSSET PLATE

STEEL DECK

EXIST STEEL 
BEAM

STEEL ANGLE BRACE,
SEE .

NOTE: WELD STEEL 
ANGLE BRACE AFTER 
STRUCTURAL STEEL 
PLATE IS POSITIONED 
AND LEVELED

BOOM MOUNTING 
PLATE AND BOLTS BY 
EQUIPMENT SUPPLIER

7/8"Ø THREADED 
STUD

STEEL TUBE HANGER

SUSPENDED CEILING 
SEE ARCH

BEAM WEB STIFFENER 
PLATE EA SIDE

VERIFY DIMENSION W/ 
EQUIPMENT SUPPLIER

STERIS-01

BOTTOM OF PLATE VERIFY

W/ EQUIPMENT SUPPLIER

5
7/8

"
 

3/16 3
SEE NOTE

3/16

3/16 4"
TYP

1"

3"

2'
 -

 0
"

5"x3/8"x5" STEEL 
GUSSET PLATE, EA. END 
OF BRACE, TYPICAL

B5

SF501
5"x1/2"x5" CAP PLATE

3/8
TYP

3/4"Ø 12"O.C.
TYP

5"x3/8"x5" STEEL 
GUSSET PLATE EACH 
END OF BRACE TYPICAL

3/16

3/16

3/16
TYP

3/16
TYP

/SF501A1

STERIS-02

SUSPENDED 
CEILING SEE ARCH

EXIST STEEL 
BEAM

NEW STEEL BEAM

3/8" THICK STEEL 
CONNECTION 
PLATE

EXIST STEEL 
BEAM

VERIFY DIMENSION 
W/ EQUIPMENT 
SUPPLIER

BOTTOM OF PLATE VERIFY

W/ EQUIPMENT SUPPLIER

5
7/8

"
 

1/4
TYP

5/16 3SIDES
3/16 3

3/16
TYP

6"x3/8"x6" GUSSET PLATE

7/8"Ø THREADED 
STUD

STEEL TUBE HANGER

3/16 4"
TYP

3"

2'
 -

 0
"

5"x1/2"x5" CAP PLATE

3/8
TYP

3/16

STEEL ANGLE BRACE W/ 
5"x3/8"x5" STEEL 
GUSSET PLATE EACH 
END, SEE            .

1"

3/4"Ø 12"O.C.
TYP

B5

SF501

BOOM MOUNTING 
PLATE AND BOLTS BY 
EQUIPMENT SUPPLIER

1 MAX

1

STEEL DECK

NEW 3/8" THICK BEAM 
WEB STIFFENER 
PLATE - TYP

1/4

1/4
TYP

1 1/2"
1"

1 1/2"

T
Y

P
1 

1/
2"

T
Y

P

3"

/SF501A1

STERIS-02

SUSPENDED 
CEILING SEE ARCH

EXIST STEEL 
BEAM

STEEL BEAM

VERIFY DIMENSION 
W/ EQUIPMENT 
SUPPLIER

BOTTOM OF PLATE VERIFY

W/ EQUIPMENT SUPPLIER

5
7/8

"
 

3"

2'
 -

 0
"

SF501

D3

0 TO 2"

>2" TO 6"

1"
4"

3/16 3/16

3/8
TYP

5"x1/2" STIFFENER PLATE

1/2" GUSSET PLATE

1"

BOOM MOUNTING 
PLATE AND BOLTS BY 
EQUIPMENT SUPPLIER

0 TO 2" OFFSET

>2" TO 6" OFFSET
STEEL DECK

SF501

D3

STERIS-03

STRUCTURAL STEEL 
PLATE

STEEL TUBE 
HANGER HSS4x4x1/4
(4 PLACES)

CENTER OF BOOM

NOTE: WELD STEEL ANGLE 
BRACE AFTER STRUCTURAL 
STEEL PLATE IS POSITIONED 
AND LEVELED

MOUNTING PLATE BY 
EQUIPMENT SUPPLIER.  
COORDINATE BOLT HOLE 
SIZE AND LOCATION FOR 
ATTACHMENT OF STEEL 
TUBE HANGERS WITH 
EQUIPMENT SUPPLIER

NOTE: COORDINATE ALL 
DIMENSIONS WITH EQUIP 
SUPPLIER BEFORE 
FABRICATION

E
Q

U
IP

M
E

N
T

 S
U

P
P

LI
E

R

C
O

O
R

D
IN

A
T

E
 W

/

EQUIPMENT SUPPLIER

COORDINATE W/

HSS4x4x1/4 (4 SIDES)

STEEL ANGLE BRACE, 3 PER 
MOUNT. SEE PLAN FOR 
LOCATION. FOR BRACE 
LENGTH ≤ 8'-0" USE 
L2.1/2x2.1/2x1/4 FOR 8'-0" > 
BRACE LENGTH ≥ 10'-0" USE 
L3x3x1/4

3/16
TYP

3/16
TYP

2"
 T

Y
P

2" TYP

D1

SF501

TYP

TYP

D3

SF501

D5

SF501

TYP FLR-Brace

STEEL BEAM

EXIST CONCRETE 
OVER STEEL DECK

STEEL BEAM

ANGLE BRACE

WELD PLATE EACH 
END OF BRACE

1/4
3-SIDES

1/4

1/4
TYP

ANGLE BRACE SCHEDULE

BRACE 
LENGTH "L"

ANGLE 
BRACE SIZE

UP TO 4'-0" L2x2x1/4

4'-0" TO 8'-0"

8'-0" TO 12'-0"

12'-0" TO 16'-0"

NOTE:
1. WHERE DOUBLE ANGLES ARE USED 
PROVIDE 3"x3/8" SPACER PLATES AT 
THIRD POINTS.

L3x3x1/4

2-L2.1/2x2.1/2x1/4

2-L3x3x1/4

WELD 
PLATE SIZE

4"x1/4"x4"

4"x1/4"x4"

4"x3/8"x4"

5"x3/8"x5"

"L"

NO SCALESF501

D1 SECTION AT STERIS TANDEN SUPPORT

NO SCALESF501

D3 SECTION AT STERIS TANDEN SUPPORT

NO SCALESF501

D5

SECTION AT STERIS TANDEN SUPPORT - CONDITION AT
HANGER BELOW GIRDER OR PURLIN

NO SCALESF501

B5 STERIS TANDEM SUPPORT PLATE DETAIL - PLAN VIEW

JUSTIN D.
NADAULD

No.
4859789-2203

P
R

O
F

E
S

S
IO

NA
L

STRUCTURAL
E

N
G

IN
E

E
R

STATE OF UTAH

HKS ARCHITECTS, INC.

SALT LAKE CITY, UT 84101

ARCHITECT

222 SOUTH MAIN, SUITE 230

REVISION

HKS PROJECT NUMBER

DATE

SHEET TITLE

SHEET NO.

P
L

O
T

 D
A

T
E

:

ISSUE

© 2008  HKS, INC.

T
E

M
P

L
A

T
E

 V
E

R
S

IO
N

: 

KEY PLAN

REAVELEY ENGINEERS & ASSOCIATES

SALT LAKE CITY, UTAH  84102

STRUCTURAL ENGINEER

675 EAST 500 SOUTH, SUITE 400

L
A

Y
T

O
N

 H
O

S
P

IT
A

L

M
IS

C
 P

R
O

J
E

C
T

S

VAN BOERUM & FRANK ASSOCIATES, INC

MURRAY, UTAH  84107

MECHANICAL ENGINEER

181 EAST 5600 SOUTH, SUITE 130

SPECTRUM ENGINEERS, INC

SALT LAKE CITY, UTAH  84111

ELECTRICAL ENGINEER

324 SOUTH STATE STREET, SUITE 400

08/15/2024

8
/1

6
/2

0
2

4
 4

:1
7
:0

3
 P

M

SF501

MEDICAL

EQUIPMENT

SUPPORT DETAILS

08/15/2024

26404.000

CONSTRUCTION

DOCUMENTS

2
.6

.8
.2

0
1
4
1

0
1

2

NO SCALESF501

A1 TYPICAL STEEL BEAM BOTTOM FLANGE BRACE DETAIL

NO. DESCRIPTION DATE



EQUIP-SUPP-33

NOTE: TIGHTEN ALL 
BOLTS TO SNUG TIGHT 
CONDITION

UNISTRUT P1843 HINGE 
W/ 1/2"Ø BOLT & P1010 
CHANNEL NUT

5/8"Ø HILTI KWIK-BOLT 
TZ W/ 5" MIN EMBED
(4 TOTAL) W/ WASHERS

EXIST CONCRETE 
OVER STEEL DECK

UNISTRUT P1000 BRACE

STEEL PLATE: 
1'-3"x3/4"x1'-3"

UNISTRUT P1843 HINGE 
W/ 1/2"Ø BOLT & P1010 
CHANNEL NUT

5/8"Ø HILTI KWIK-BOLT 
TZ W/ 5" MIN EMBED
(2 TOTAL) W/ WASHERS

UNISTRUT P1000 x 
1'-6" LONG

UNISTRUT P1000 BRACE

EXIST CONCRETE 
OVER STEEL DECK

BRACE PERPENDICULAR TO FLUTES

BRACE PARALLEL TO FLUTES

EQUIP-SUPP-33

UNISTRUT P1023S
CHANNEL NUT

UNISTRUT P2471 FLAT
PLATE FITTING

UNISTRUT P1843 HINGE
W/ 1/2"Ø BOLT & P1010
CHANNEL NUT

UNISTRUT P1000
BRACE (TYP OF 4)

MOUNTING PLATE BY 
OTHERS

NOTE: TIGHTEN ALL
BOLTS TO SNUG TIGHT
CONDITION

5/8" STEEL PLATE

3/4"Ø A36 THREADED ROD

NOTE: SEE DETAIL 
FOR CONNECTING AT 
TOP OF UNISTRUT 
BRACES

UNISTRUT P2485 CRADLE
CLIPS & P3008 NUT W/ 3/8"
x 1" HEX HEAD CAP
SCREWS @ 12" O.C.

UNISTRUT P1000T
CHANNEL STIFFENER

3/4"Ø A36 THREADED ROD

UNISTRUT P5501
BETWEEN BEAMS

COORDINATE BOLT
PATTERN WITH
MANUFACTURER

STEEL BEAM

90
.00

°

PER MANUFACTURER 
RECOMMENDATIONS

EXIST CONC 
OVER STEEL 
DECK

3
0
° 

M
IN

4
5
° 

M
A

X

3
1/2

"
 

/SF502B3

TYP
1/2"

UNISTRUT P1386 CLAMP 
& P1023S CHANNEL NUT 
W/1/2" BOLT TYP EA END

NOTE:  SEE B5/SF502 
FOR CONDITION AT 
MECHANICAL DUCT, 
WHERE OCCURS.  
FIELD VERIFY.

EQUIP-SUPP-33

UNISTRUT P1023S
CHANNEL NUT

UNISTRUT P2471 FLAT
PLATE FITTING

UNISTRUT P1843 HINGE
W/ 1/2"Ø BOLT & P1010
CHANNEL NUT

UNISTRUT P1000
BRACE (TYP OF 4)
(2-EACH DIRECTION)

NOTE: TIGHTEN ALL
BOLTS TO SNUG TIGHT
CONDITION

NOTE: SEE DETAIL 
FOR CONNECTING AT 
TOP OF UNISTRUT 
BRACES

UNISTRUT P2485 CRADLE
CLIPS & P3008 NUT W/ 3/8"
x 1" HEX HEAD CAP
SCREWS @ 12" O.C.

UNISTRUT P1000T
CHANNEL STIFFENER

3/4"Ø A36 THREADED ROD

UNISTRUT P5501
BETWEEN BEAMS
CENTER OVER P5501 
UNISTRUT BELOW

STEEL BEAMEXIST CONC 
OVER STEEL 
DECK

/SF502B3

TYP
1/2"

UNISTRUT P1386 CLAMP 
& P1023S CHANNEL NUT 
W/1/2" BOLT TYP EA END

HVAC DUCT

MOUNTING PLATE BY 
OTHERS

M
A

X

4"

5/8" THICK STEEL 
PLATE, COORDINATE 
BOLT PATTERN WITH 
MANUFACTURER

3/4"Ø A36 THREADED 
ROD

UNISTRUT P5501 EACH 
SIDE OF 5/8" STEEL 
PLATE BELOW

30.00° M
IN

45.00° M
A

X

3"

PER MANUFACTURER 
RECOMMENDATIONS

UNISTRUT P1000 
BETWEEN P5501 
STRUTS W/1/2"Ø BOLT

NO SCALESF502

B3 TYPICAL UNISTRUT CONNECTION TO CONC OVER STEEL DECK

NO SCALESF502

B4 TYPICAL SINGLE LIGHT SUPPORT FROM STRUCTURE

JUSTIN D.
NADAULD

No.
4859789-2203

P
R

O
F

E
S

S
IO

NA
L

STRUCTURAL
E

N
G

IN
E

E
R

STATE OF UTAH

HKS ARCHITECTS, INC.

SALT LAKE CITY, UT 84101

ARCHITECT

222 SOUTH MAIN, SUITE 230

REVISION

HKS PROJECT NUMBER

DATE

SHEET TITLE

SHEET NO.

P
L

O
T

 D
A

T
E

:

ISSUE

© 2008  HKS, INC.

T
E

M
P

L
A

T
E

 V
E

R
S

IO
N

: 

KEY PLAN

REAVELEY ENGINEERS & ASSOCIATES

SALT LAKE CITY, UTAH  84102

STRUCTURAL ENGINEER

675 EAST 500 SOUTH, SUITE 400

L
A

Y
T

O
N

 H
O

S
P

IT
A

L

M
IS

C
 P

R
O

J
E

C
T

S

VAN BOERUM & FRANK ASSOCIATES, INC

MURRAY, UTAH  84107

MECHANICAL ENGINEER

181 EAST 5600 SOUTH, SUITE 130

SPECTRUM ENGINEERS, INC

SALT LAKE CITY, UTAH  84111

ELECTRICAL ENGINEER

324 SOUTH STATE STREET, SUITE 400

08/15/2024

8
/1

6
/2

0
2

4
 4

:1
7
:0

3
 P

M

SF502

MEDICAL

EQUIPMENT

SUPPORT DETAILS

08/15/2024

26404.000

CONSTRUCTION

DOCUMENTS

2
.6

.8
.2

0
1
4
1

0
1

2

NO. DESCRIPTION DATE

NO SCALESF502

B5 TYPICAL SINGLE LIGHT SUPPORT FROM STRUCTURE AT MECHANICAL DUCT


